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Exercise (Week 9)
November 19, 2021

CFRATF n FER 2 4753 over R 60 vector space M, £ Wy ={AeM,:A'=A},
WZZ{AEMn:At:—A}, W3:{[aij]EMnZai]‘:O,ViSj}.

(a) &M W, W, 5 M, 1 subspace ¥ W) +W, =M,.
(b) #P W3 i M, c1subspace * Wi +W3=M,.
%1 T 0 vector space ¥ ¥ & 4 F v,w % Span(S) ® .

(a) v=(-1,1,1,2),w=(2,—1,1,-3), S={(1,0,1,—1),(0,1,1,1) } in R*.

= 22+ 3x4+3,w=20 -+ x+3, S={F+ P+ x+ 1,2 Fx+1x+ 1}
in P3(R).
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B3k V 5 vector space T SCV. zM S 4_V ¢ subspace % * *&% Span(S) =S.

Fk T B £ &7 e vector space ¥ £ F & linearly independent. ¥ & lin-
early dependent, :##-H ¢ - B2 L4 7sHE 2 mide s,

(a) S1=1{(1,0,0),(1,2,-1),(0,1,1)}, S = {(1,1,—1),(0,1,1),(1,2,0)} in R3.
(b) S3={2x> +x+1,x> +3,x+2}, S4 = {2¢* +x+1,3x> +x—5,x+ 13} in P(R).
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